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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 11560 2.2 1.2 4 56.2 99.5
2 11352 1.7 0.7 2 84.4 97.7
3 11535 2.5 1 4 62.2 99.2
4 11572 4.2 1.7 6 69.6 99.6
5 11530 2.8 1.5 5 56.6 99.2
6 11590 3.7 2.4 8 46.8 99.7
7 11400 3.7 1.5 6 61.8 98.1
8 11531 5.8 1.7 7 83.2 99.2
9 9765 1.5 1.8 4 37.2 84

10 11287 5.4 3.2 9 59.5 97.1
11 11115 1.3 0.8 2 65.1 95.6
12 10862 2.6 2.5 6 43.7 93.5
13 11063 2.6 2.1 5 51.2 95.2
14 10439 0.7 0.7 2 34.8 89.8
15 8268 0.5 1.1 3 18.2 71.1
16 10340 1.2 0.9 2 62.4 89
17 10728 1.3 1.1 3 42.7 92.3
18 10072 1.5 1.3 3 50.1 86.7
19 8969 1.4 1.6 4 33.8 77.2
20 10854 4.1 3.4 8 50.9 93.4
21 8232 2.2 2.7 7 30.9 70.8

56.2 84.4 62.2 69.6 56.6 46.8 61.8 83.2 37.2 59.5 65.143.7 51.2 34.8 18.2 62.4 42.7 50.1 33.8 50.9 30.9 
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1(a) 1 B2 B1 for sight of  (9 – 7 = ) 2 or (45 – 35 =) 10 








	



-3 to the power 2 means -3 x -3, which is 9.  Here the candidate has treated -3 squared as only squaring the 3.
An incorrect response, no marks are awarded.












	



A correct response.  -3 squared has been handled correctly as 
-3 x - 3 = +9.








	



5 x - 7 = -35 not 35.



The brackets on the numerator have been expanded.
However 5 times -3 squared has not been calculated accurately.
it should have been worked out as 
5 x -3 x -3  = 5 x +9 = 45.
This candidate has treated the power 2 as times 2 perhaps, and ignored the negative? 








(4370-06) Turn over.


4
3


7
0


0
6


0
0


0
3


03


3
Examiner


only
1.	 Given that k = –3, m = 7 and p = 10, find the value of the following expressions.


	 (a)	 	 [2]


	


	


	


	 (b)	 (2m)3	 [2]


	


	


	


	


2.	 Find the larger share when £1400 is shared in the ratio of 1 : 4.	 [2]


	


	


	


Larger share is £ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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 (=  56 000 pounds) 5(b)  (USA 28 tons)    28×20×100 


   OR  (UK 26 tons)    26×20×112   (= 58 240 pounds) 


   OR (for sight of )     26×112 - 28×100 = 112 


(Difference in pounds 20 × 112 or 58240 – 56000 =) 2240 


(Percentage difference, compared with USA) 


(100 ×) 2240  or   (100 ×) 58240   - 1 (× 100) 


 56000  56000 


 or equivalent 


4(%) 


M1 


A1 


M1 


A1 


Appropriate working leading to 112 must be seen, e.g.  


2912 – 2800 = 112, not for sight of the ‘112’ given in the 


question 


CAO. Must be seen 


(Note: 58240 ÷ 56000  - 1 =1.04 – 1 = 0.04) 


FT their difference ‘58240-56000’ correctly evaluated 


provided at least M1 previously awarded  


Allow M1 for (100 ×) 112/2800 (also FT for A1) 


CAO, including FT from 100 × 112/2800 = 4(%) 


Award M1, A0, M1, A1 for an unsupported 4% (not from 


3.9 rounded to 4, the later marks are M0, A0) 


Note to markers: Watch for answers that round to 4% from 


incorrect working, probably from a denominator of 58240, 


award finally M0, A0 








	



The percentage difference is 
100 x 2240/56000 = 4%.

No workings are shown, 1% is incorrect, so no further marks can be awarded.



A correct difference in pounds, 2 marks awarded so far.








	



In total, 3 marks are awarded.



Sight of the difference in hundredweight, 112, is awarded 1 mark.



This is a correct percentage difference calculation, although the amounts are in hundredweight not pounds.
M1 and A1 is awarded.



These values 2800 and 2912 are NOT pounds.  To convert to pounds each has to be multiplied by 20.
The values shown are in hundredweight.
The questions wanted the difference in pounds.









	



A correct solution for all 7 marks.

The issue could have been that no workings were shown for the calculation of 4%.
Had an incorrect button been pressed on the calculator this would have meant M0, A0.
However, this candidate has the correct percentage difference, so all possible marks can be awarded.
It is however dangerous not to show workings.








6


(4370-06)06


Examiner
only


© WJEC CBAC Ltd.


5.	 Some measures for mass are the same in the USA as they are in the UK.
	 Some measures are different.
	 A pound is the same measure in both the USA and the UK.
	 The measures known as hundredweights and tons are different in the USA and the UK.
	 1 ton = 20 hundredweight in both the USA and the UK.


	 (a)	 Complete the statement,	 [1]


43·5 tons = …………… hundredweight


	


	 (b)	 A truck in the USA carries a load of 28 USA tons.


		  A lorry in the UK carries a load of 26 UK tons.


		  Calculate the difference between the two loads in pounds.
		  Express this difference as a percentage of the load carried by the USA truck.	 [4]


	


	


	


	


	


	


	


	


	


	


	


1 hundredweight = 100 pounds 1 hundredweight = 112 pounds


USA UK
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9. π × d = 10  or  2 × π × r = 10


or sight of (maximum diameter)  3.18(…m)


Diameter (of the pond is 3×0.9 =)   2.7 


(Left over edging)  10 - π × 2.7 


 Answer  1.51 or 1.52   (metres) 


B1 


B1 


M1 


A1 


OR a correctly evaluated trial for 1 of these values of d 


giving C approximately as given below: 


d 0.9 1.8 2.7 3.6 4.5 


C 2.83 5.65 8.48 11.31 14.14 


CAO.  Must be 2 d.p., an answer not rounded to 2 d.p. 


implies previous marks, but is A0 








	



The candidate works with multiples of 0.9m, but does not work out the circumference of each of these to find the one with an answer as closer to 10m as possible, but less than 10m.
Consequently, no progress is made in answering this question.








	



The candidate has not worked with a circle.
They have tried to find a number that when multiplied by 0.9 gives an answer just less than 10.
The candidate has not engaged with the question, this is shown initially by the drawing of a square.








	



A correct response.
Circumferences have been calculated using a diameter that is a multiple of 0.9.
The appropriate circumference is selected and the length of edging left over calculated. Although not given to 2 d.p., so the final mark is not awarded.








(4370-06) Turn over.
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9.	 Rayner plans to make a circular garden pond.


	 She has bought 10 metres of edging to place around the circumference of the pond.


	 Because of where the pond is to be placed, it must have a diameter that is a multiple of 0·9 m.
	 Rayner decides to make the largest pond she can with the edging she has bought.


	 What length of edging will she have left over?
	 Give your answer in metres, correct to 2 decimal places.	 [4]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	







